
30354212 

FOLDABLE AC BRACKET

350mm x 420mm x 45mm + 800mm x 1,2 mm

Frontal Hook

Cross Bar

MATERIALS & TREATMENT

Materials: Electro-galvanised steel plate

Treatment: Painting epoxy resins in polyester

Colour : RAL 9002

Equipped with : Level to adjust the wall bar, 
wall fixing kit, insulating washers

LOADING CAPACITY

Load Capacity : 140 kg

Contract Use : 80 kg

Loading Test Weight: 420 kg

BOX

Pack : Carton box

Pieces : 1 

Pack Dimensions : 70x70x810 mm 

PALLET

Pallet Dimensions : 110x80x180 cm

Pieces Per Pallet: 300 (modifiable)

DIMENSIONS & LOADING CAPACITY

TECHNICAL DETAIL

EQUIPMENTS

Rubber Washer For Vibration

Levelling System

Hexogen Head Screws

Bolts & Nuts

Lower Support Bracket

Bearer Bracket

Cross Bar

Rubber Pads

M8 Bolt

Screw

M8 Washer

Wall Plug

Mid-Support Bush

Level Indicator

M8 Fiber Nut

M8 Washer



30354215 

FOLDABLE AC BRACKET

350mm x 420mm x 45mm + 800mm x 1,5 mm

Frontal Hook

Cross Bar

MATERIALS & TREATMENT

Materials: Electro-galvanised steel plate

Treatment: Painting epoxy resins in polyester

Colour : RAL 9002

Equipped with : Level to adjust the wall bar, 
wall fixing kit, insulating washers

LOADING CAPACITY

Load Capacity : 140 kg

Contract Use : 100 kg

Loading Test Weight: 420 kg

BOX

Pack : Carton box

Pieces : 1 

Pack Dimensions : 70x70x810 mm 

PALLET

Pallet Dimensions : 110x80x180 cm

Pieces Per Pallet: 300 (modifiable)

DIMENSIONS & LOADING CAPACITY

TECHNICAL DETAIL

EQUIPMENTS

Rubber Washer For Vibration

Levelling System

Hexogen Head Screws

Bolts & Nuts



30384812 

FOLDABLE AC BRACKET

380mm x 480mm x 45mm + 800mm x 1,2 mm

Frontal Hook

Cross Bar

MATERIALS & TREATMENT

Materials: Electro-galvanised steel plate

Treatment: Painting epoxy resins in polyester

Colour : RAL 9002

Equipped with : Level to adjust the wall bar, 
wall fixing kit, insulating washers

LOADING CAPACITY

Load Capacity : 140 kg

Contract Use : 80 kg

Loading Test Weight: 420 kg

BOX

Pack : Carton box

Pieces : 1 

Pack Dimensions : 70x70x810 mm 

PALLET

Pallet Dimensions : 110x80x180 cm

Pieces Per Pallet: 300 (modifiable)

DIMENSIONS & LOADING CAPACITY

TECHNICAL DETAIL

EQUIPMENTS

Rubber Washer For Vibration

Levelling System

Hexogen Head Screws

Bolts & Nuts



30384815 

FOLDABLE AC BRACKET

380mm x 480mm x 45mm + 800mm x 1,5 mm

Frontal Hook

Cross Bar

MATERIALS & TREATMENT

Materials: Electro-galvanised steel plate

Treatment: Painting epoxy resins in polyester

Colour : RAL 9002

Equipped with : Level to adjust the wall bar, 
wall fixing kit, insulating washers

LOADING CAPACITY

Load Capacity : 140 kg

Contract Use : 100 kg

Loading Test Weight: 420 kg

BOX

Pack : Carton box

Pieces : 1 

Pack Dimensions : 70x70x810 mm 

PALLET

Pallet Dimensions : 110x80x180 cm

Pieces Per Pallet: 300 (modifiable)

DIMENSIONS & LOADING CAPACITY

TECHNICAL DETAIL

EQUIPMENTS

Rubber Washer For Vibration

Levelling System

Hexogen Head Screws

Bolts & Nuts



30455520 

FOLDABLE AC BRACKET

450mm x 550mm x 45mm + 800mm x 2 mm

Frontal Hook

Cross Bar

MATERIALS & TREATMENT

Materials: Electro-galvanised steel plate

Treatment: Painting epoxy resins in polyester

Colour : RAL 9002

Equipped with : Level to adjust the wall bar, 
wall fixing kit, insulating washers

LOADING CAPACITY

Load Capacity : 140 kg

Contract Use : 100 kg

Loading Test Weight: 420 kg

BOX

Pack : Carton box

Pieces : 1 

Pack Dimensions : 70x70x810 mm 

PALLET

Pallet Dimensions : 110x80x180 cm

Pieces Per Pallet: 300 (modifiable)

DIMENSIONS & LOADING CAPACITY

TECHNICAL DETAIL

EQUIPMENTS

Rubber Washer For Vibration

Levelling System

Hexogen Head Screws

Bolts & Nuts



50404585 

AC FLOOR STAND SET

400mm x 415 mm x 850mm x 1,5 mm

MATERIALS & TREATMENT

Materials: Electro-galvanised steel plate

Treatment: Painting epoxy resins in polyester

Colour : RAL 9002

Equipped with :  Vibration dampers and
assembling screws

LOADING CAPACITY

Load Capacity : 100 kg

BOX

Pack : Carton box

Pieces : 1 

PALLET

Pallet Dimensions : 110x110 cm

Pieces Per Pallet: 250/270 pcs

DIMENSIONS & LOADING CAPACITY

EQUIPMENTS

Rubber Washers For Vibration Fixing Kit

TECHNICAL DETAIL

100



506043085 

AC FLOOR STAND SET

600mm x 430 mm x 800mm x 1,5 mm

MATERIALS & TREATMENT

Materials: Electro-galvanised steel plate

Treatment: Painting epoxy resins in polyester

Colour : RAL 9002

Equipped with :  Vibration dampers and
assembling screws

LOADING CAPACITY

Load Capacity : 100 kg

BOX

Pack : Carton box

Pieces : 1 

PALLET

Pallet Dimensions : 110x110 cm

Pieces Per Pallet: 250/270 pcs

DIMENSIONS & LOADING CAPACITY

EQUIPMENTS

Rubber Washers For Vibration Fixing Kit

TECHNICAL DETAIL

100



508043085 

AC FLOOR STAND SET

800mm x 430 mm x 850mm x 1,5 mm

MATERIALS & TREATMENT

Materials: Electro-galvanised steel plate

Treatment: Painting epoxy resins in polyester

Colour : RAL 9002

Equipped with :  Vibration dampers and
assembling screws

LOADING CAPACITY

Load Capacity : 100 kg

BOX

Pack : Carton box

Pieces : 1 

PALLET

Pallet Dimensions : 110x110 cm 

Pieces Per Pallet: 250/270 pcs

DIMENSIONS & LOADING CAPACITY

EQUIPMENTS

Rubber Washers For Vibration Fixing Kit

TECHNICAL DETAIL

100

800



50555801015  

AC FLOOR STAND SET

550 - 600 mm X 580 mm X 1015 x 1,5 mm

MATERIALS & TREATMENT

Materials: Electro-galvanised steel plate

Treatment: Painting epoxy resins in polyester

Colour : RAL 9002

Equipped with :  Vibration dampers and
assembling screws

LOADING CAPACITY

Load Capacity : 100 kg

BOX

Pack : Carton box

Pieces : 1 

PALLET

Pallet Dimensions : 110x110 cm

Pieces Per Pallet: 250/270 pcs

DIMENSIONS & LOADING CAPACITY

EQUIPMENTS

Rubber Washers For Vibration Fixing Kit

TECHNICAL DETAIL

100

550-600

580 1015



SHUTTER DESIGN
OUTDOOR AC COVER

SHUTTER DESIGN OUTDOOR AC COVER

1000 x 850 x 500 (WxHxD)

MATERIALS & TREATMENT

Materials: Electro-galvanised steel plate

Treatment: Powder paint on top. 

Colour : RAL 9002

Equipped with : Assembling screws

WEIGHT (KG)

Net Weight : 32.2 kg

BOX

Pack : Carton box

Pieces : 1 

PALLET

Pallet Dimensions : 110x110 cm

Pieces Per Pallet: 50/60 pcs

EQUIPMENTS

Fixing Kit

TECHNICAL DETAILS

850

1- Front Blinds Body
2- Right Side Blinds Cover
3- Left Side Frame
4- Left Side – Opening Blinds Cover
5- M5 Hinge Fixing Bolts
6- M4 Top Cover Connection Sheet Covers
7- Wall Mounting Piece
8- Blinds
9- Wall Connection Screws & Dowels


